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“The graph of y 2x2 +2is the graph of y P 1 stretched \lf,r'hcall\; ' ab'cut thie X-axis by a

. Giveny =x + 3x, write an equatlon that would _. ﬁ- ] L S
-a). stretch the graph of thls ﬁ_mctlon honzontally about the y-ams by a factor of -
- The graph of y f(x) contains the pomt (6 3) What correspondmg point is on the graph of

' For y= |x + 3| write : an equatron that represents ! the graph cf this ﬁmct:on stretched homzontally
“about the y-axis by a factor of 2 and that reﬂects it in the y-axis. - -

. The graph of x2+ y2=9 is a circle with centre (0,0) and radius 3. Sketch [% ) +(— y): =9,

‘ showmg the x- and y—mtercepts Give the domam and range of this new relation.
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The graph of ye (3x)*is the graph ofy=x’ stretched \’\on mon‘\‘a“\[ about the y—axrs by a .
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b) stretch the graph of this ﬁmctton vertlcally about the x—ams by a factor of % e
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The graph of y= 5Vx is the graph of y= \/; stretched \IthCfl”\/ about the x—ams bya .
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The graph of yz[%xj is the graph of y=(x)} stretched hoﬂ' ion'i‘a”\l/ about thc'y—axis bya
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I genetal ky f (x) s the. graph of y=f (x) stretched verttcally about the )('.-j Cb"':iS K bya
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For’ y J_ wnte the equatlon that re:presents the gxaph of thiS ﬁlIlCthIl stretched honzontally

... ., about the, y—axls bya factor of 2 and vertically about the x-axis by a factor of 3
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The graph of y Sx cou!d be the graph of y x 1f itis stretched
‘a) vertlcaily about the > x-axis. by a factor of 8
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. h) honzontally about the  y-axis byafactor of y’Z _ --mlf——b y (QK)3

If the graph of y= f (x) contatns the pomt (a b), the graph of y=2 f (3x) contams the
correspondmgpomt 'Zb oy : e o terii e

'_‘The graph of Pl y =16 is a cu'cle w1th centre (0 0) and radius 4. Sketch the graph of
X+ (2 y) =16; showmg the x- and y—mtercepts ‘Give the domain and range of this new reiatlon '
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_The graph of y= f (x) has a pomt (a b) What correspondmg pomt ison the graph of
- y-—2f(x)" o
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If the graph of y = \/J_C is stretched honzontally about the y-ax1s by a factor of 4 and reﬂect in the

' y-axis, then what is the equatmn of the transformed graph?
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If the graph of y= |x| 2 is stretehed vetttcally about the x-axis by a factor of 3 and reflect in the ,

" x-axis, then what is equation of the transformed- graph"
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If the graph of y = x’ +3 is stretched horizontally about the y-axis by a factor of —1~ , stretched

: vettlcally about the x-axis bya factor of 2, and reﬂect in the x—ams then what Is equatton of the .
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If the graph of y= L 2 is stretched vertlcally about the x—ax1s by a factor of Elf stretched

honzontally stretcll about: the y-axls by a factor. of 2 and reﬂect m the y—a:us, then What is equatlon '

ofthe transfonned graph" L _ .
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" For each of questlons 19 to 24, descnbe how the graph of the ﬁrst ﬁmctlon can be transformed to glve the _

graph of the second functlon
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For each of questloné 25 1028, the graph t:hat is not 1abelled is obfained byd stretch of the graph of the
function that is labelled. Write the equatwn for each of the functions represented by the graphs that are
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